Notes 7-3
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If ARST and AXYZ are two triangles such that X3 which of the following
would be sufficient to prove that the triangles are similar?
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Given: RS|| UT, RS=4, RQ=x+3, QT=2+ 10, UT= 0.
Show how to find RQ and QT.
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Parts of Similar Triangles

A. Show how to find QP and MP B. Show how to find WR and RT
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Josh wanted to measure the height of the Sears Tower in Chicago. He used a
|12-foot light pole and measured its shadow at | PM. The length of the shadow

was 2 feet. Then he measured the length of the Sears Tower’s shadow and it was
242 feet at the same time.

Werite a proportion to determine the height of the Sears Tower.
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Adam is standing next to the Palmetto Building in Columbia, South Carolina. He is
6 feet tall and the length of his shadow is 9 feet. If the length of the shadow of the
building is 322.5 feet, how tall is the building?
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Check Your Understanding

In the figure, AB intersect DE at point C.

Which additional information would be enough to prove that AADC ~ ABEC?

A. ZDAC and ZECB are congruent.

E B
B. AC and BC are congruent.
C
C. AD and EB are parallel.
A
D. ZCBE is a right angle. D
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Angle-Angle (AA) Similarity Postulate

Fill in the blanks.

Words If two angles of one triangle are
to two angles of another triangle, then the
triangles are

B

A
Example If ZA= ZF and ZB = £G, then [[ F c
_ c 7

H
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Show how to determine whether the triangles in each pair are similar. If so,
write a similarity statement. Explain your reasoning.
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Side-Side-Side (SSS) Similarity Theorem

Fill in the blanks.

Words If the corresponding side lengths of two
triangles are , then the triangles
are

]
Example £ K_U , then fi Q [4
MP PQ oM’
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Side-Angle-Side (SAS) Similarity Theorem

Fill in the blanks.

Words

Example

If the lengths of the two sides of one triangle are
to the lengths of two corresponding sides

of another triangle and the included angles are

, then the triangles are
s

Y
f RS ST ads =2 AT

XY YZ R
then ARST ~ AXYZ
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Show how to determine whether the triangles in each pair are similar. If so,
write a similarity statement. Explain your reasoning.

a. A b. M
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Show how to determine whether the triangles in each pair are similar. If so,
write a similarity statement. Explain your reasoning.
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